

ABC Bid Data

EASTERN TPK STATEWIDE ITS R&R 42934

NON-FEDERAL

PROJECT: EASTERN TPK STATEWIDE ITS R&R

STATE PROJECT NUMBER: 42934

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: March 21, 2024, 2:00

SCOPE OF WORK: Eastern TPK Statewide ITS R&R

COMPLETION DATE: September 26, 2025

LOCATION: Rockingham, Strafford, Belknap, Merrimack, Hillsborough, Sullivan, Coos, Carroll,

Grafton, Cheshire

Awarded To: ROADSAFE TRAFFIC

SYSTEMS INC

55 Bodwell St. Avon, MA 02322

Amount: \$1,053,305.00 Ce

Award Date:

Certified by: TOBEY.L.REYNOLDS

Director of Project Development

Summary of Bidders

Contractor	Bid Amount	Rank
ROADSAFE TRAFFIC SYSTEMS INC	\$1,053,305.00	Α
55 Bodwell St., AVON MA 02322		
MOULISON ELECTRIC INC	\$1,235,455.00	В
40 IDON TRAIL BOAD DIDDEFORD ME 0400F		

10 IRON TRAIL ROAD, BIDDEFORD ME 04005

ABC Bid Data



EASTERN TPK STATEWIDE ITS R&R 42934

NON-FEDERAL

				1	PS&E	55 Bo	AFFIC SYSTEMS INC odwell St. MA 02322	10 IRON	ELECTRIC INC TRAIL ROAD RD, ME 04005
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.7	REMOVAL OF GUARDRAIL	LF	425.00	\$10.00	\$4,250.00	\$13.00	\$5,525.00	\$10.00	\$4,250.00
202.82211	REMOVE DMS STRUCTURE	U	1.00	\$12,000.00	\$12,000.00	\$13,200.00	\$13,200.00	\$15,000.00	\$15,000.00
202.82212	REMOVE DMS STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$8,525.00	\$8,525.00	\$7,500.00	\$7,500.00
202.82213	REMOVE DMS STRUCTURE	U	1.00	\$10,000.00	\$10,000.00	\$6,300.00	\$6,300.00	\$7,500.00	\$7,500.00
202.82221	REMOVE DMS BOARD	U	1.00	\$2,000.00	\$2,000.00	\$700.00	\$700.00	\$3,500.00	\$3,500.00
202.82223	REMOVE DMS BOARD	U	1.00	\$2,000.00	\$2,000.00	\$700.00	\$700.00	\$3,500.00	\$3,500.00
202.83222	REMOVE AND SALVAGE DMS BOARD	U	1.00	\$2,000.00	\$2,000.00	\$1,050.00	\$1,050.00	\$3,500.00	\$3,500.00
203.5525	PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	1.00	\$1,500.00	\$1,500.00	\$6,650.00	\$6,650.00	\$5,000.00	\$5,000.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$1,500.00	\$3,000.00	\$5,225.00	\$10,450.00	\$5,000.00	\$10,000.00
206.1	COMMON STRUCTURE EXCAVATION	CY	190.00	\$56.42	\$10,719.80	\$90.00	\$17,100.00	\$85.00	\$16,150.00
206.2	ROCK STRUCTURE EXCAVATION	CY	20.00	\$90.41	\$1,808.20	\$634.50	\$12,690.00	\$250.00	\$5,000.00
503.201	COFFERDAMS	U	1.00	\$50,000.00	\$50,000.00	\$66,150.00	\$66,150.00	\$87,400.00	\$87,400.00
508.	STRUCTURAL FILL	CY	20.00	\$102.50	\$2,050.00	\$255.00	\$5,100.00	\$315.00	\$6,300.00
520.2	CONCRETE CLASS B	CY	40.00	\$575.13	\$23,005.20	\$575.00	\$23,000.00	\$850.00	\$34,000.00
544.1	REINFORCING STEEL (ROADWAY)	LB	3,850.00	\$1.89	\$7,276.50	\$2.95	\$11,357.50	\$3.50	\$13,475.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$4,500.00	\$9,000.00	\$6,375.00	\$12,750.00	\$5,000.00	\$10,000.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	2.00	\$1,500.00	\$3,000.00	\$2,635.00	\$5,270.00	\$2,500.00	\$5,000.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	425.00	\$40.00	\$17,000.00	\$51.30	\$21,802.50	\$42.00	\$17,850.00
614.72114	2" PVC CONDUIT, SCHEDULE 40	LF	353.00	\$10.00	\$3,530.00	\$11.00	\$3,883.00	\$30.00	\$10,590.00
615.20001	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$105,000.00	\$105,000.00	\$143,500.00	\$143,500.00	\$110,000.00	\$110,000.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$43,500.00	\$43,500.00	\$50,000.00	\$50,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$2,000.00	\$4,000.00	\$4,000.00	\$8,000.00	\$2,500.00	\$5,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,000.00	\$4,000.00	\$3,375.00	\$6,750.00	\$3,000.00	\$6,000.00

ABC Bid Data



EASTERN TPK STATEWIDE ITS R&R 42934

NON-FEDERAL

					PS&E	55 B	AFFIC SYSTEMS INC odwell St. , MA 02322	10 IRON	N ELECTRIC INC TRAIL ROAD DRD, ME 04005
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$3,000.00	\$6,000.00	\$10,500.00	\$21,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	10.00	\$10.00	\$100.00	\$11.50	\$115.00	\$15.00	\$150.00
621.31	SINGLE DELINEATOR WITH POST	EA	3.00	\$65.00	\$195.00	\$87.75	\$263.25	\$65.00	\$195.00
621.32	DOUBLE DELINEATOR WITH POST	EA	3.00	\$70.00	\$210.00	\$101.25	\$303.75	\$75.00	\$225.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	675.00	\$7.00	\$4,725.00	\$14.50	\$9,787.50	\$10.00	\$6,750.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	1,694.00	\$9.00	\$15,246.00	\$5.00	\$8,470.00	\$30.00	\$50,820.00
677.1201	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$75,000.00	\$75,000.00	\$108,500.00	\$108,500.00	\$95,000.00	\$95,000.00
677.1202	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$75,000.00	\$75,000.00	\$111,500.00	\$111,500.00	\$95,000.00	\$95,000.00
677.12101	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS - OHSS)	U	1.00	\$200,000.00	\$200,000.00	\$138,900.00	\$138,900.00	\$120,000.00	\$120,000.00
677.317	RELOCATE WIRELESS COMMUNICATIONS EQUIPMENT	U	2.00	\$5,000.00	\$10,000.00	\$6,375.00	\$12,750.00	\$1,500.00	\$3,000.00
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	2.00	\$8,500.00	\$17,000.00	\$10,450.00	\$20,900.00	\$35,500.00	\$71,000.00
677.5812	1 GBPS ETHERNET SWITCH	EA	1.00	\$3,500.00	\$3,500.00	\$1,795.00	\$1,795.00	\$15,000.00	\$15,000.00
677.67201	SOLAR POWERED SYSTEM (POLE MOUNTED)	U	1.00	\$42,500.00	\$42,500.00	\$58,750.00	\$58,750.00	\$125,000.00	\$125,000.00
677.9306	3-CONDUCTOR #6 AWG CABLE	LF	170.00	\$9.00	\$1,530.00	\$7.75	\$1,317.50	\$5.00	\$850.00
692.	MOBILIZATION	U	1.00	\$60,000.00	\$60,000.00	\$50,000.00	\$50,000.00	\$104,950.00	\$104,950.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
1010.15	FUEL ADJUSTMENT	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00
			Totals:		\$922,145.70		\$1,053,305.00		\$1,235,455,00

Alternate A

ITS

203.5561	EAGRT PLATFORM PREFERRED	U	1.00	\$1,500.00	\$1,500.00	\$5,225.00	\$5,225.00	\$5,000.00	\$5,000.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	1.00	\$4,500.00	\$4,500.00	\$6,375.00	\$6,375.00	\$5,000.00	\$5,000.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	1.00	\$1,500.00	\$1,500.00	\$2,635.00	\$2,635.00	\$2,500.00	\$2,500.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	225.00	\$40.00	\$9,000.00	\$51.30	\$11,542.50	\$42.00	\$9,450.00

New Hampshive Department of Transportation

ABC Bid Data

EASTERN TPK STATEWIDE ITS R&R 42934

NON-FEDERAL

					PS&E	55 Be	AFFIC SYSTEMS INC odwell St. MA 02322	MOULISON ELECTRIC INC 10 IRON TRAIL ROAD BIDDEFORD, ME 04005	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	750.00	\$40.00	\$30,000.00	\$43.20	\$32,400.00	\$50.00	\$37,500.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	1.00	\$7,000.00	\$7,000.00	\$3,295.00	\$3,295.00	\$3,500.00	\$3,500.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	1.00	\$8,000.00	\$8,000.00	\$4,650.00	\$4,650.00	\$3,500.00	\$3,500.00
614.72114	2" PVC CONDUIT, SCHEDULE 40	LF	90.00	\$10.00	\$900.00	\$11.00	\$990.00	\$30.00	\$2,700.00
619.11	MAINTENANCE OF TRAFFIC	U	1.00	\$10,000.00	\$10,000.00	\$14,500.00	\$14,500.00	\$20,000.00	\$20,000.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	225.00	\$7.00	\$1,575.00	\$14.50	\$3,262.50	\$10.00	\$2,250.00
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	556.00	\$9.00	\$5,004.00	\$5.00	\$2,780.00	\$30.00	\$16,680.00
677.1203	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$75,000.00	\$75,000.00	\$108,500.00	\$108,500.00	\$85,000.00	\$85,000.00
677.317	RELOCATE WIRELESS COMMUNICATIONS EQUIPMENT	U	1.00	\$5,000.00	\$5,000.00	\$6,375.00	\$6,375.00	\$1,500.00	\$1,500.00
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$8,500.00	\$8,500.00	\$10,450.00	\$10,450.00	\$35,500.00	\$35,500.00
677.5812	1 GBPS ETHERNET SWITCH	EA	1.00	\$3,500.00	\$3,500.00	\$1,795.00	\$1,795.00	\$15,000.00	\$15,000.00
677.67201	SOLAR POWERED SYSTEM (POLE MOUNTED)	U	1.00	\$42,500.00	\$42,500.00	\$58,750.00	\$58,750.00	\$125,000.00	\$125,000.00
677.9306	3-CONDUCTOR #6 AWG CABLE	LF	40.00	\$9.00	\$360.00	\$7.75	\$310.00	\$5.00	\$200.00
692.1	MOBILIZATION	U	1.00	\$20,000.00	\$20,000.00	\$17,000.00	\$17,000.00	\$40,000.00	\$40,000.00
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00

Alt. Totals:	\$238,839.00	\$295,835.00	\$415,280.00
Totals:	\$1,160,984.70	\$1,349,140.00	\$1,650,735.00



EASTERN TPK STATEWIDE ITS R&R 42934 NON-FEDERAL

				A-Bidd	der	PS8	ŖΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.7	REMOVAL OF GUARDRAIL	LF	425.00	\$13.00	\$5,525.00	\$10.00	\$4,250.00	\$1,275.00
202.82211	REMOVE DMS STRUCTURE	U	1.00	\$13,200.00	\$13,200.00	\$12,000.00	\$12,000.00	\$1,200.00
202.82212	REMOVE DMS STRUCTURE	U	1.00	\$8,525.00	\$8,525.00	\$10,000.00	\$10,000.00	(\$1,475.00)
202.82213	REMOVE DMS STRUCTURE	U	1.00	\$6,300.00	\$6,300.00	\$10,000.00	\$10,000.00	(\$3,700.00)
202.82221	REMOVE DMS BOARD	U	1.00	\$700.00	\$700.00	\$2,000.00	\$2,000.00	(\$1,300.00)
202.82223	REMOVE DMS BOARD	U	1.00	\$700.00	\$700.00	\$2,000.00	\$2,000.00	(\$1,300.00)
202.83222	REMOVE AND SALVAGE DMS BOARD	U	1.00	\$1,050.00	\$1,050.00	\$2,000.00	\$2,000.00	(\$950.00)
203.5525	PORTABLE CHANGEABLE MESSAGE SIGN PLATFORM	U	1.00	\$6,650.00	\$6,650.00	\$1,500.00	\$1,500.00	\$5,150.00
203.5561	EAGRT PLATFORM PREFERRED	U	2.00	\$5,225.00	\$10,450.00	\$1,500.00	\$3,000.00	\$7,450.00
206.1	COMMON STRUCTURE EXCAVATION	CY	190.00	\$90.00	\$17,100.00	\$56.42	\$10,719.80	\$6,380.20
206.2	ROCK STRUCTURE EXCAVATION	CY	20.00	\$634.50	\$12,690.00	\$90.41	\$1,808.20	\$10,881.80
503.201	COFFERDAMS	U	1.00	\$66,150.00	\$66,150.00	\$50,000.00	\$50,000.00	\$16,150.00
508.	STRUCTURAL FILL	CY	20.00	\$255.00	\$5,100.00	\$102.50	\$2,050.00	\$3,050.00
520.2	CONCRETE CLASS B	CY	40.00	\$575.00	\$23,000.00	\$575.13	\$23,005.20	(\$5.20)
544.1	REINFORCING STEEL (ROADWAY)	LB	3,850.00	\$2.95	\$11,357.50	\$1.89	\$7,276.50	\$4,081.00



EASTERN TPK STATEWIDE ITS R&R 42934 NON-FEDERAL

				A-Bide	A-Bidder		ķΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	2.00	\$6,375.00	\$12,750.00	\$4,500.00	\$9,000.00	\$3,750.00
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	2.00	\$2,635.00	\$5,270.00	\$1,500.00	\$3,000.00	\$2,270.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	425.00	\$51.30	\$21,802.50	\$40.00	\$17,000.00	\$4,802.50
614.72114	2" PVC CONDUIT, SCHEDULE 40	LF	353.00	\$11.00	\$3,883.00	\$10.00	\$3,530.00	\$353.00
615.20001	CANTILEVER TRAFFIC SIGN STRUCTURE	U	1.00	\$143,500.00	\$143,500.00	\$105,000.00	\$105,000.00	\$38,500.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$43,500.00	\$43,500.00	\$30,000.00	\$30,000.00	\$13,500.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	2.00	\$4,000.00	\$8,000.00	\$2,000.00	\$4,000.00	\$4,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,375.00	\$6,750.00	\$2,000.00	\$4,000.00	\$2,750.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$3,000.00	\$6,000.00	\$5,000.00	\$10,000.00	(\$4,000.00)
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	10.00	\$11.50	\$115.00	\$10.00	\$100.00	\$15.00
621.31	SINGLE DELINEATOR WITH POST	EA	3.00	\$87.75	\$263.25	\$65.00	\$195.00	\$68.25
621.32	DOUBLE DELINEATOR WITH POST	EA	3.00	\$101.25	\$303.75	\$70.00	\$210.00	\$93.75
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	675.00	\$14.50	\$9,787.50	\$7.00	\$4,725.00	\$5,062.50
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	1,694.00	\$5.00	\$8,470.00	\$9.00	\$15,246.00	(\$6,776.00)
677.1201	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$108,500.00	\$108,500.00	\$75,000.00	\$75,000.00	\$33,500.00

Friday, April 12, 2024 Page 6 of 9



EASTERN TPK STATEWIDE ITS R&R 42934 NON-FEDERAL

				A-Bido	der	PS8	kΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
677.1202	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$111,500.00	\$111,500.00	\$75,000.00	\$75,000.00	\$36,500.00
677.12101	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS - OHSS)	U	1.00	\$138,900.00	\$138,900.00	\$200,000.00	\$200,000.00	(\$61,100.00)
677.317	RELOCATE WIRELESS COMMUNICATIONS EQUIPMENT	U	2.00	\$6,375.00	\$12,750.00	\$5,000.00	\$10,000.00	\$2,750.00
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	2.00	\$10,450.00	\$20,900.00	\$8,500.00	\$17,000.00	\$3,900.00
677.5812	1 GBPS ETHERNET SWITCH	EA	1.00	\$1,795.00	\$1,795.00	\$3,500.00	\$3,500.00	(\$1,705.00)
677.67201	SOLAR POWERED SYSTEM (POLE MOUNTED)	U	1.00	\$58,750.00	\$58,750.00	\$42,500.00	\$42,500.00	\$16,250.00
677.9306	3-CONDUCTOR #6 AWG CABLE	LF	170.00	\$7.75	\$1,317.50	\$9.00	\$1,530.00	(\$212.50)
692.	MOBILIZATION	U	1.00	\$50,000.00	\$50,000.00	\$60,000.00	\$60,000.00	(\$10,000.00)
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	15,000.00	\$1.00	\$15,000.00	\$1.00	\$15,000.00	\$0.00

Alternate A

ITS

203.5561	EAGRT PLATFORM PREFERRED	U	1.00	\$5,225.00	\$5,225.00	\$1,500.00	\$1,500.00	\$3,725.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	1.00	\$6,375.00	\$6,375.00	\$4,500.00	\$4,500.00	\$1,875.00

Friday, April 12, 2024 Page 7 of 9



EASTERN TPK STATEWIDE ITS R&R 42934

NON-FEDERAL

	-	I	1	A-Bidd	der	PS8	ŧΕ	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
606.1471	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2) (MASH MID-SPLICE)	U	1.00	\$2,635.00	\$2,635.00	\$1,500.00	\$1,500.00	\$1,135.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	225.00	\$51.30	\$11,542.50	\$40.00	\$9,000.00	\$2,542.50
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	750.00	\$43.20	\$32,400.00	\$40.00	\$30,000.00	\$2,400.00
606.9522	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 2	U	1.00	\$3,295.00	\$3,295.00	\$7,000.00	\$7,000.00	(\$3,705.00)
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECTIVE) TEST LEVEL 3	U	1.00	\$4,650.00	\$4,650.00	\$8,000.00	\$8,000.00	(\$3,350.00)
614.72114	2" PVC CONDUIT, SCHEDULE 40	LF	90.00	\$11.00	\$990.00	\$10.00	\$900.00	\$90.00
619.11	MAINTENANCE OF TRAFFIC	U	1.00	\$14,500.00	\$14,500.00	\$10,000.00	\$10,000.00	\$4,500.00
645.512	COMPOST SOCK FOR PERIMETER BERM	LF	225.00	\$14.50	\$3,262.50	\$7.00	\$1,575.00	\$1,687.50
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	556.00	\$5.00	\$2,780.00	\$9.00	\$5,004.00	(\$2,224.00)
677.1203	PERMANENT FIXED LOCATION DYNAMIC MESSAGE SIGN (DMS)	U	1.00	\$108,500.00	\$108,500.00	\$75,000.00	\$75,000.00	\$33,500.00
677.317	RELOCATE WIRELESS COMMUNICATIONS EQUIPMENT	U	1.00	\$6,375.00	\$6,375.00	\$5,000.00	\$5,000.00	\$1,375.00
677.54101	GROUND MOUNTED ITS EQUIPMENT CABINET	U	1.00	\$10,450.00	\$10,450.00	\$8,500.00	\$8,500.00	\$1,950.00
677.5812	1 GBPS ETHERNET SWITCH	EA	1.00	\$1,795.00	\$1,795.00	\$3,500.00	\$3,500.00	(\$1,705.00)
677.67201	SOLAR POWERED SYSTEM (POLE MOUNTED)	U	1.00	\$58,750.00	\$58,750.00	\$42,500.00	\$42,500.00	\$16,250.00
677.9306	3-CONDUCTOR #6 AWG CABLE	LF	40.00	\$7.75	\$310.00	\$9.00	\$360.00	(\$50.00)
692.1	MOBILIZATION	U	1.00	\$17,000.00	\$17,000.00	\$20,000.00	\$20,000.00	(\$3,000.00)

Friday, April 12, 2024 Page 8 of 9



EASTERN TPK STATEWIDE ITS R&R 42934

NON-FEDERAL

			A-Bidder		PS&E			
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
1010.15	FUEL ADJUSTMENT	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00

Total: \$1,349,140.00 \$1,160,984.70 \$188,155.30

Friday, April 12, 2024 Page 9 of 9